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Imagine you are in charge of constructing a two-tower suspension
bridge over the Potlatch River. You have planned that the curve

of the main suspension cables can be modeled by the function

y = 0.004x> — x + 80, where y represents height of the cable above
the bridge surface and x represents distance along the bridge surface
from one tower toward the other. The values of x and y are measured
in feet.

a. What is the approximate height (from the bridge surface) of each
tower from which the cable is suspended?

b. What is the shortest distance from the cable to the bridge surface
and where does it occur?

c. At which points is the suspension cable at least 50 feet above the
bridge surface? Write an inequality that represents this question
and express the solution as an inequality.
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Consider some other familiar measurement formulas.

a. Match the formulas A-D to the measurement calculations they
express:

1 volume of a cube Ay=¢

II surface area of a cube By=¢
III area of a square Cy=ds
IV perimeter of a square Dy=06s®

b. Which of the formulas from Part a are those of quadratic
functions?




